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 SAS 

 SSS

 

 ∆𝐴𝐵𝐶   : c ,b, a C, B, A 

:

                             𝒂𝟐 = 𝒃𝟐 + 𝒄𝟐 − 𝟐𝒃𝒄 𝐜𝐨𝐬 𝑨

                             𝑏2 = 𝑎2 + 𝑐2 − 2𝑎𝑐 cos 𝐵

                            𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏 cos 𝐶

 

𝐶 = 54° , 𝑎 = 16 , 𝑏 = 20
SAS

  

𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏 cos 𝐶                           
𝑐2 = 162 + 202 − 2(16)(20) cos 54° = 279.82 

𝑐 = 16.7

  A.

𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐 cos 𝐴
162 = 202 + 16.72 − 2(20)(16.7) cos 𝐴

256 = 400 + 278.9 − 668 cos 𝐴
−422.9 = −668 cos 𝐴

cos 𝐴 =  
−422.9

−668
= 0.6331 

 𝐴 =  cos−1 0.6331 ≈ 51°

B 𝐵 = 180° − (51° + 54°)

𝐵 = 75°
 

https://drive.google.com/file/d/1FugGninp-kyPiBcK6TGzlA43TH1-6i-H/view?usp=drivesdk
https://youtu.be/fRBwJ3_TyM0

